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® zx=60°, 1y =120° @ 1x="70°, 1y=110°
@Ax=80°, /y =100° @ /x=90°, /y=190°

® £x=100°, sy =80°

(A =/y=100°, /D=/x=80°
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_ AC

BD = AC = 10(cm), x = - = 5(cm)

/y=180°—45°—45° = 90°
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7. o 133 Zo] AC = BC ¢l o] 5HAZIE ABC oA A = 66°
Ao, 1x 9] 27]=9

@® 130° @)132° ® 134° @ 136° ® 138

Lx = 66° + 66° = 132°
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LOAC + /OBA + £OCB = 90°
.. Z0CB =90°-35°-25°=30°




9. o3 2"A H IE aABC O WA o, x g2 Gukelz?

® 30° @ 31° ® 32° @ 33° ®)35°

~&B

H 17} aAABC O] WAL o, /BIC = 90° + %onlt‘r.

A 17F Al HZHe] o] 5849 o] B2 /IBC = ABI = 25°
o|r}.

A7y o] Y7+e] g8 180° 0| B &2 /BIC = 180°—30° - 25° =
125 ° o]t
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/(BIC =90° + §ZA, 125° =90° + ézA, (A =T0°

. /x=(CAIl = %AA =35°
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x=CE=CFOolEE2BD=BF=9-x,AD=AE=12-x
mbA (9 - x) + (12— x) = 15 ©]|EZ x = 3(cm) ©]th.
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@ 60° @ 62° @ 64 ° @ 66° @ 70°

1
ta= b= _(180°~70°) =55° (Fol H2 7

tb = e =55° (AH)
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D K
B > C
@ EC=EI @ (FIC = /ECI ® /DBI = /DIB

@AIBC = (EIC ® DB =DI

B ~
(DBI = /CBI = /DIB°|E2& ADBI+ DB = DI§! 0|54
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¥, /ECI = /BCI = (EICO|E& AEICE EC = EI¢l o]5H
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@ /BC = /DIB, (EIC = /ICB
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AODA = AOEA (RHAZE) ©|E& /AOD = /AOE

AOEC = AOFC (RHA®HE) ©] 2 & /COE = /COF

oDBFO oA /B + /F + /DOF + /D = 360°
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50°+90°+22a+2.b+90° = 360° . Za+ /b= 65° .. LAOC =
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